MposepouHas paboTta «J/lorapudmmuueckue ypasHeHUA».

OueHka «3».

BapuaHT 1.

1.log,x=-2
1

2.loggx= -

3.log1(16 — 6x) =log: x?
6 6

4.log;(x%* — 6x + 17)=2
5.1g%x = Igx +6

OueHKa «4».

BapuaHT 1.

1. logs’x - 3logs x + 2=0
2.log; 4 =log, x-log, 9

3.1g (x +/3) +1g (x-v/3) =0

4, 10g0'5(4X - 1) -. 10g0'5(7x - 3)=1

5. 2lg’x + 3 = 7lgx

OugeHka «5».

BapuaHT 1.

1.1g (x*-9)—lg(x-3)=0
2.Jogs(x3 + x) -logs x =logs 10
3.logg s % =logps X

4. logy, X + logp,x-6=0

5.logq3logs log,(x? + 2x) =0

BapuaHT 2.
1
1.log, x= >
1
2log,; x = 3
3.logs(x% + 6)=log35x
4.logs(x? — 11x + 43)=2

5.1g%*x =4 - 3lgx

BapuaHT 2.
1.logs’x +logz x - 2 =0
2.log14 + logi1x=1log: 18

3 3 3
3. Ig(x-1)+lg (x+1) =0
4.log,3(2x — 1) -logyz x=0

5. Iogzzx —5log, x+2=0

BapuaHT 2.

1.logs(x? — 4) -logs(x — 2)=0
2.log,(x3 — x) -log, x =log, 3
3.log, ﬁ =log, x

4, Iogolszx -logpsx-2=0

5.l0gosl0g8, logz(x* +3x —1)=0



